Math 120, 123 Practice Quiz # 19 – Sections 10.1-10.4
Quadratic Equations, Special Methods, Completing the Square, Quadratic Formula, Equations in Quadratic Form

In problems 1-3, solve by factoring or using the Square Root Property.
1. 3t2 – 2 = 0
2. 2x2+ 8x – 10 = 0
3. (15x + 1)(2x + 1) = -x(6x – 5)
In problems 4-6, solve by completing the square.
4. x2 – 10x = 22
5. 2x2 – 5x – 3 = 0
6. m2 + 4m + 13 = 0
In problems 7-10
a. determine the discriminate

b. state the nature of the solutions

c. solve by using the quadratic formula. Leave your answers in simplified radical form.

7. 15t2 + 7t = 2
8. 7x(x + 2) + 5 = 3x(x + 1)
9.  
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10. 25x2 – 20x + 4 = 0

In problems 11-13, determine the solution.
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